Ty

LLlaprKo-BUHTOBbIE Nepesayn

Onopsb! LLUBT BK

4 ote. @X 2-M
Ote. @Y ¢ yrny6n.
nog wnsany Z

L2 Ls

A//
uE
Y

‘ 4 ots. @d2
0 8 fdCToh
- & & I 3 ]
=g il
| eTre g
A e i
b C1 C
£ Lu L
8ce pasmepbl yKa3aHsl 8 MM
b h
Tvn d, L L L L B H ————— B: H E P G G G X Y z M T
+0,02 +0,02

BK-10 10 25 29
BK-12 12 25 29

60 39 30 22 34 325 15 46 13
60 43 30 25 35 325 18 46 13

5 5 6 55 66 108 5 M3 16
5 5 6 55 66 108 65 M4 19
BK-15 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 55 66 11 65 M4 22
BK-17 17 35 9 44 7 8 64 43 39 50 55 28 68 19 8 66 9 14 85 M4 24
8 8 8
9
9

BK-20 20 35 43 88 60 44 34 52 50 22 70 19 66 9 14 85 M4 30
BK-25 25 42 12 54 106 80 53 48 64 70 33 8 22 10 9 11 175 11 M5 35
BK-30 30 45 14 61 128 8 64 51 76 78 33 102 23 11 11 14 20 13 M6 40
BK-35 35 50 14 67 12 140 9% 70 52 8 79 35 114 26 12 11 14 20 13 M8 50
BK-40 40 61 18 76 15 160 MO 8 60 100 S0 37 130 33 14 14 18 26 17,5 M8 50

Onopbl WBIM BF

@X x @Y x Z, 2 oTs. B,
d2, 4 oTs. , ,
- i K{j
T I.cui]_ / Ie1 7
I:I
L
8C€ Pa3Mepbl YKA3aHbI 8 MM
Tn di L B H LA BB H E P d X Y Z Nogwmnumk CronopHoe
$0,02  $0,02 KONbLLO
BF-10 8 20 60 39 30 22 34 325 15 46 55 66 108 5 60622 508
BF-12 10 20 60 43 30 25 35 325 18 46 55 66 108 65  60002Z 510
BF-15 15 20 70 48 35 28 40 38 18 54 55 66 11 65  60022Z 515
BF-17 17 23 86 64 43 39 50 55 28 68 6,6 9 14 8,5 620372 S17
BF-20 20 26 8 60 44 34 5 50 22 70 66 9 14 85 600422 520
BF-25 25 30 106 80 53 48 64 70 33 85 9 11 17,5 11 620577 S 25
BF-30 30 32 128 89 64 51 76 78 33 102 11 14 20 13  62062Z 530
BF-35 35 32 140 96 70 52 88 79 35 114 11 14 20 13 620777 S35
BF-40 40 37 160 110 80 60 100 90 37 130 14 18 26 175  62082Z 540

© 88007007207 TECHNOBEARING




